AIR COMPRESSOR BRACKET
ENGINE BAY

TLR682101

SUITED TO:

TOYOTA PRADO 150 SERIES



PRE-INSTALLATION

B Read through this Fitting time {@} Q\,P Allen key set
— | installation guide iS approx. Spanner
e before proceeding. 30 minutes. m Socket Set

FITTING KIT

QUANTITY PART

1 TLR682101

M8 Nyloc Nut
M8 x 24 mm Flat Washer
M6 x 20 mm Hex Head Bolt
M6 Flat Washer
M6 Spring Washer
Cable Ties 150 mm

_ = NN

NOTE:

This Air Compressor Bracket is design to suit fitment of an ARB

Single Air Compressor and locates in the rear driver side area of
the engine bay of a Toyota Prado 150 series and has a mounting
hole location to suit a standard style carling rocker switch.



FITTING INSTRUCTIONS

INFUEN

o U

Unclip two electrical harness clips from engine bay rear driver’s
side behind air box. Photo1

Cable tie lager connector to electrical harness out of the way.
Mount ARB Single Compressor to bracket. Photo 2

Locate the assembled TLR Products Bracket over the 2 factory
M8 studs

Fit 2 x M8 washers and Nyloc nuts. (leave loose)

Fit 1 M6 x 12 mm hex head bolt, flat washer and spring washer to
the top hole.

Tighten all bolts & nuts.

Fit electrical switch to hole supplied

PHOTO 1 PHOTO 2

instagram.com/tlrproducts
facebook.com/tirproducts

hello@tlrproducts.com.au
] www.tlrpoducts.com.au

TLR Products
= 65 Northville Drive
¢ Ol Barnsley NSW 2278

T

ooo
|

]DDD




	Slide 1
	Slide 2
	Slide 3

